Svenska Bridgeférbundet
IAF Allsvenskan - Elitserien - 2:2

IMP over faltet, 12 bord, 24 par. Antal brickor: 12.

Plac Par Poéng Namn MID
1 605 2.46 Johan Séafsten - Per-Erik Malmstrom 35452 23472
2 204 2.38 Per-Ola Cullin - Simon Ekenberg 21204 41685
3 403 1.70 Tommy Jansson - Géran Petersson 8415 7832
4 603 1.34 Henry Franzén - Bengt-Goran Olofsson 12766 9553
5 4 1.20 Mikael Lindblom - Mart Altméae 5094 5914
6 206 0.95 Daniel Gullberg - Mikael Gronkvist 37167 85230
7 1 0.94 Goran Selldén - Anders Brunzell 4863 12576
8 402 0.93 Thomas Andersson - David Probert 15537 3990
9 5 0.92 Hans Kvick - Bjérn Alenfalk 2878 2828
10 601 0.77 Pia Andersson - Jim Nielsen 4874 4865
11 6 0.48 UIf Nilsson - Goran Lindberg 2781 4339
12 202 0.33 Johan Bennet - Anders Wirgren 93 4731
13 602 -0.33 Mikael Rimstedt - Ola Rimstedt 88184 88183
14 406 -0.48 Olle Wademark - Jan Selberg 14800 11074
15 201 -0.77 Daniel Salomonsson - Lars-Goran Larsson 15175 6849
16 405 -0.92 Daniel Eriksson - Rolf Scherdin 24659 3102
17 2 -0.93 Meike Wortel - Marion Michielsen 98765 53103
18 401 -0.94 Kent Karlsson - Thomas Axenbratt 3918 10248
19 606 -0.95 Martin Lofgren - Carl Ragnarsson 2881 2498
20 404 -1.20 Tommy Bergdahl - Niklas Warne 2181 15344
21 203 -1.34 Peter Nordén - Andreas Westman 7833 23603
22 3 -1.70 Tom Gérds - Nils Ahlén 13002 1169
23 604 -2.38 Jan Andersson - Per Hallberg 11704 12555
24 205 -2.46 Rune Pettersson - Sune Fager 3141 3146
13 & K9864 Basta kontrakt 14 432 Bésta kontrakt 15 410 Bésta kontrakt
Nord vD2 5v O =-650 Ost v KKn10 5¢ V =-400 Syd v KD86 5¢ S =600
Alla + 8532 Ingen + K6 NS + K1098654
&Kn7 & ¢ v & NT #K108652 & ¢ v & NT &Kn & ¢ v & NT
4 ED1072 o- N25143 aK « D10964 N7 25565 4D865 4Kn94 N6 119 8 8
vEK864 vKn73 S25143 vED7653 v8 S72555 vE7 v Kn532 S 6 119 8 8
+9 + KD107 O 118 118 10 + ED85 ¢ Kn974 O6 108 7 7 +D3 ¢E2 072352
»63 #ED10982 V 118 118 10 #ED #Kn94 V 6 118 8 7 #D9653 410842 V72354
4 Kn53 & EKn875 & EK732
v 1095 v 942 v 1094
¢ EKn64 + 1032 ¢ Kn7
*K54 *73 S EK7
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
6 406 3NO-1 «T 100 133.0 -133.0 2 402 3NV-4 43 200 58.0 -58.0 5 405 3NN+1 &4 630 75.0 -75.0
4 404 3NO= T -600 -4.0 40| 4 404 3NO-2 T 100 28.0 -28.0 1 401 5¢ N= &6 600 69.0 -69.0
5405 3NV= 46 -600 -4.0 4.0 5405 3NV-2 &6 100 28.0 -28.0 2 402 5¢ N= &4 600 69.0 -69.0
201 601 3NO= T -600 -4.0 4.0|201 601 4v V-2 43 100 28.0 -28.0| 4 404 5¢ N= 3 600 69.0 -69.0
204 604 3NV= 44 -600 -4.0 4.0|202 602 3NO-2 #6 100 28.0 -28.0|202 602 5¢ N= &2 600 69.0 -69.0
2 402 4vV= #J -620 -150 15.0|204 604 5¢ O-2 47 100 28.0 -28.0|204 604 5¢ N= &4 600 69.0 -69.0
202 602 4v O= ¢2 -620 -15.0 15.0 6 406 2NV-1 &6 50 10.0 -10.0|203 603 2¢ N+3 3 150 -30.0 30.0
203 603 4v V= ¢3 -620 -15.0 15.0|205 605 3¢ V= 42 -110 -32.0 320 3403 3NS-1 #3 -100 -78.0 78.0
205 605 4v V= ¢3 -620 -15.0 15.0|206 606 3¢ V= 43 -110 -32.0 32.0 6 406 3NS-1 &5 -100 -78.0 78.0
206 606 4v V= ¢3 -620 -150 15.0 3 403 3¢ V+1 43 -130 -43.0 43.0|201 601 3NS-1 &5 -100 -78.0 78.0
1401 3NO+1 ¢6 -630 -15.0 15.0 1401 3¢ V+2 43 -150 -450 45.0|205 605 5¢ N-1 ¢4 -100 -78.0 78.0
3403 4vV+1 ¢4 -650 -27.0 27.0|203 603 2v V+2 ¢K -170 -56.0 56.0(206 606 5¢ S-1 vA -100 -78.0 78.0
16 #1083 Bésta kontrakt 17 » KKn1064 Bésta kontrakt 18 43 Bésta kontrakt
Vast v E987 5¢ N D -2-300 Nord v K52 44 O D -1 100 Ost vD97653 64 O =-980
oV + ED93 Ingen + 1072 NS 4982
£107 & ¢ v & NT »107 & ¢ v & NT £982 & ¢ v & NT
496 4EDKNn7542 N1 9 8 11 4D9532 & E N46 896 4 DKn986 & EK104 N23816
vKKn43 v6 S19811 vKn64 v107 S 46896 v- vKn102 S23816
¢ 62 ¢85 O 104 5 107 ¢+ DKn9 ¢8653 096 343 +D1065 ¢ K43 O 109 5 126
#EKKNn42 #D63 V 104 5 107 #EK #DKn8532 V 9 6 3 4 3 #Kn1075 #EK3 V 109 5 126
oK & 87 4752
vD1052 v ED983 v EK84
+ KKn1074 + EK4 ¢ EKn7
2985 #964 «D64
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
2 402 44 O-1 &5 100 43.0 -43.0|205 605 24 V-4 v2 200 38.0 -38.0 1401 44 V= v5 -420 10.0 -10.0
4 404 44 O-1 T 100 43.0 -43.0 5405 2v S+2 &K 170 30.0 -30.0| 4 404 44 O= ©vA -420 10.0 -10.0
5 405 44 O-1 T 100 43.0 -43.0|201 601 2v S+2 &K 170 30.0 -30.0|204 604 44 O= <vA -420 10.0 -10.0
6 406 44 V-1 +3 100 43.0 -43.0|203 603 2v S+2 &K 170 30.0 -30.0 2 402 44 V+1 ¢2 -450 -2.0 2.0
202 602 44 O-1 T 100 43.0 -43.0|206 606 2v S+2 &K 170 30.0 -30.0 3 403 44 O+1 vA -450 -2.0 2.0
204 604 44 O-1 v5 100 43.0 -43.0 2 402 2v S+1 &K 140 18.0 -18.0 5 405 44 O+1 vA -450 -2.0 2.0
205 605 44 O-1 T 100 43.0 -43.0|204 604 2v S+1 &A 140 18.0 -18.0 6 406 44 O+1 vA -450 -2.0 2.0
206 606 44 O-1 ¥5 100 43.0 -43.0 3403 2v S= &K 110 9.0 -9.0(202 602 44 O+1 &2 -450 -2.0 2.0
1 401 5¢DS-2 «A -300 -56.0 56.0 1401 3v S-1 «K -50 -38.0 38.0|203 603 44 O+1 vA -450 -2.0 2.0
201 601 5¢DS-2 #A -300 -56.0 56.0| 4 404 3#0= ¢A -110 -55.0 55.0(205 605 44 O+1 vA -450 -2.0 2.0
203 603 44 O= T -620 -111.0 111.0 6 406 3« O= ¢A -110 -55.0 55.0|206 606 44 V+1 42 -450 -2.0 2.0
3 403 44 O+1 ¥5 -650 -121.0 121.0|202 602 3« O= ¢A -110 -55.0 55.0(201 601 44 V+2 ¢2 -480 -140 14.0
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19 4 D63 Basta kontrakt 20 4106532 Basta kontrakt 21 4765 Basta kontrakt
Syd v K8743 3NT S =400 Vast vE10 3¢ V =-110 Nord v K10865 44 O D -2 300
(6)) +D Alla ¢ EKn NS +6
#9852 & ¢ v & NT #ED108 & ¢ v & NT #E974 & ¢ v & NT
a74 49852 N7 7999 « EKKN97 4D N9 4866 « DKn4 « E9832 N 106 105 8
v E96 v 102 S779909 v5 vKn8763 S9 4866 vE93 vKn2 S 106 9 5 8
¢ E106542 ¢ 93 06 6 3 4 4 4108743 # KD96 0395765 +43 ¢K109872 O 3 7 3 8 4
D7 #EKn643 V66344 K4 #Kn73 V49575 #D10653 - V37374¢4
&« EKKn10 484 4 K10
v DKn5 v KD942 vD74
+ KKn87 +52 ¢ EDKn5
#K10 #9652 #KKn82
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
1 401 3NS+2 +2 460 43.0 -43.0| 4 404 2v V-3 ¢A 300 86.0 -86.0|206 606 4v S= ¢4 620 118.0 -118.0
3 403 3NS+1 ¢4 430 32.0 -32.0|204 604 2v N+1 ¢K 140 45.0 -45.0 1 401 44DO-2 v3 300 50.0 -50.0
6 406 3NS+1 5 430 32.0 -32.0|203 603 2¢vy N= ¢K 110 35.0 -35.0 3 403 3¢DO-2 v3 300 50.0 -50.0
202 602 3NN+1 ¢2 430 32.0 -32.0|206 606 2¢v N= ¢K 110 35.0 -35.0| 4 404 3¢DO-2 v4 300 50.0 -50.0
4 404 4v S= ¢A 420 32.0 -32.0|201 601 4¢ O-1 ¢3 100 33.0 -33.0 6 406 44 O-4 v4 200 25.0 -25.0
201 601 4v S= ¢A 420 320 -320 1401 INV= v2 90 -240 24.0|203 603 44 O-3 v4 150 12.0 -12.0
204 604 4v S= ¢A 420 32.0 -32.0 2 402 3¢ O= ¢2 -110 -29.0 29.0|201 601 44DO-1 vQ 100 -3.0 3.0
206 606 4v S= ¢A 420 32.0 -32.0 5405 3¢ O= ¢2 -110 -29.0 29.0|202 602 2¢DO-1 v2 100 -3.0 3.0
2 402 2¢DV-1 3 200 -34.0 34.0 3 403 3¢ V+1 vA -130 -38.0 38.0(204 604 34DV-1 45 100 -3.0 3.0
5405 3y N= +9 140 -49.0 49.0 6 406 2¢ V+2 42 -130 -38.0 38.0|205 605 4vDS-1 4Q -200 -74.0 74.0
203 603 4v S-1 +A -50  -92.0 92.0|202 602 2¢ O+2 43 -130 -38.0 38.0 2 402 3vy N-3 #4 -300 -96.0 96.0
205 605 4v N-1 45 -50 -92.0 92.0|205 605 2¢ V+2 42 -130 -38.0 38.0 5405 3NDS-2 4Q -500 -126.0 126.0
22 476 Basta kontrakt 23 4872 Basta kontrakt 24 & E986 Basta kontrakt
Ost v 964 5¢ S =400 Syd v 107432 4v S =620 Vast v DKn6 3v V =-140
oV + KD102 Alla ¢ E4 Ingen 49754
#10963 & ¢ v & NT #E105 & ¢ v & NT *74 & ¢ v & NT
4 Kn102 4« D9543 N 11115 6 6 4 DKn53 & K94 N 105 107 8 « D7 410432 N46 454
vKD108532 vE7 S 11115 6 6 v K85 vD S 105 107 8 vK9842 vE107 S 46 454
¢+5 ¢ 974 02276 4 49872 #KDKn1063 O 2 8 1 6 2 ¢+ DKn8 +¢EI10 087 978
#85 #KKn7 V22764 «D3 #862 V28162 £K86 &#ED92 V979738
& EK8 4 E106 & KKn5
vKn v EKn96 v53
+ EKn863 +5 + K632
#ED42 #KKn974 #Kn1053
Par Kontr Ut Res Poéang Par Kontr Ut Res Poéang Par Kontr Ut Res Poéang
3 403 5¢ S+1 ¥K 420 36.0 -36.0 5 405 4v S+2 ¢3 680 105.0 -105.0 1401 4vV-1 +5 50 15.0 -15.0
5 405 5¢ S+1 vK 420 36.0 -36.0|204 604 4v S+2 #Q 680 105.0 -105.0 2 402 4v O-1 &5 50 15.0 -15.0
6 406 5¢ S+1 vK 420 36.0 -36.0 1401 4vS= «Q 620 89.0 -89.0 3 403 4v V-1 &7 50 15.0 -15.0
206 606 5¢ S+1 vK 420 36.0 -36.0|201 601 4v S= ¢9 620 89.0 -89.0| 4 404 4v V-1 ¢T 50 15.0 -15.0
1 401 5¢ N= vA 400 26.0 -26.0|203 603 4¢ O-2 5 200 11.0 -11.0 5405 4v V-1 5 50 15.0 -15.0
202 602 5¢ N= vK 400 26.0 -26.0 2 402 4vS-1 9 -100 -57.0 57.0 6 406 4v V-1 &7 50 15.0 -15.0
203 603 5¢ N= vA 400 26.0 -26.0| 4 404 4v N-1 ¢J -100 -57.0 57.0(202 602 4v O-1 +2 50 15.0 -15.0
205 605 5¢ S= 4J 400 26.0 -26.0 6 406 4v N-1 K -100 -57.0 57.0|203 603 4v O-1 #J 50 15.0 -15.0
204 604 4¢ S+1 vK 150 -44.0 44.0(202 602 4y N-1 9 -100 -57.0 57.0|204 604 4v V-1 &7 50 15.0 -15.0
201 601 3#S= ¢K 110 -53.0 53.0(205 605 4v N-1 K -100 -57.0 57.0|206 606 4v V-1 5 50 15.0 -15.0
4 404 34 O-1 vJ 100 -58.0 58.0|206 606 4v S-1 7 -100 -57.0 57.0|205 605 INV+2 ¢5 -150 -44.0 44.0
2 402 5¢ S-1 &8 -50 -93.0 93.0 3 403 3¢ O= #4 -110 -57.0 57.0|201 601 3NO= &5 -400 -106.0 106.0
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